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S CHisk 36. 01
KL 38.39

B4 LL—RREE

B & £ T & FHE K B [
1 g A HBIISC /N3 1/ 4 41.25 9% ( 0.75)
2 PHIL EE SAHZ /N3 1/ 1 46. 97 6#% ( 0.93)
3 A HEht EfEY S C /N2 1/ 8 51.15 3#k  (0.99)

No. 11 BF 50m /A2 754 A LL—R R scmm LT

£ 910 >

B & £ il 2E K B [
1 (FEBHE FFHESC /N4 3/ 4 35.30 9%k ( 0.73)
2 HHROKHE S A A% /N5 4/ 6 35.58 8#% ( 0.70)
3 AR Wk JOYFITHY A /N4 2/ 3 40. 50 68% ( 0.87)
4 P9 fh ek Th 7 JOYFIT5 & /N5 2/ 1 41.35 4#% (0. 86)
5 7))l FmL T b IVEEDL /N 1/ 2 41. 41 6%  (0.72)
6 2 ARMEL A2=Layn’ 4SS /N3 1/ 5 44. 82 4% ( 0.83)
T PRk PEE] SAH% NS 2/ 6 45. 27 1% (0.77)
8 /MK FIA CANSAY T-% /NG 1/ 7 45. 34 L% ( 0.88)
9 M IR SAH%E /N 2/ 7 46. 17 3% (0.83)
10 A EKR SAH% /N4 2/ 8 47.16 *F8 2% ( 0.86)
11 HHR JeHE SAHZ /N4 1/ 3 54.09 ( 1.06)

S CHesx 27.27
AEivsk 29. 67
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L 11-121, >

B A LL—R R

B KK £ Fr & FE 7K E& G
1 #kot  Bhml Ty b IVEEIL 1 4/ 5 30.76 8% ( 0.83)
2 g BEA Tkt —n"=SC NG 5/ 1 30.93 8#%k ( 0.81)
3 APRHEIE /IMES F ] 4/ 8 32.92 7% (0.73)
4 EHHOoEH HRRIISC NG 3/ 3 35.57 65% ( 0.72)
5 =Y TukE Ty b IIVEE(D] NG 4/ 1 36. 36 4% (0.77)
6 UTEZIT E=HIRS C NG 3/ 6 36. 71 5#%% ( 0.86)
7T LI BEsE Z a2— L)l /N6 3/ 7 37.43 58% ( 0.79)
8 Kfi fxHd MBS F NG 2/ 4 39.23 3%k (0.77)
9 R AR CANSAY T-% 1 3/ 8 40. 01 % (0.78)
10 Al LE 2R JOYFIT % & H 1 2/ 2 40. 47 ( 0.79)
11 [LRpEZ8h JOYFITH & /NG 2/ 5 40. 90 28% ( 0.75)
12 RER FE9R JOYFIT#& & NG 3/ 1 41.06 2% ( 0.74)
No. 11 BF 50m /N2 754 B4 L L—R R SCHft 2619
K£557 28. 22
L 13-14% >
BRI K 4 T & FE 7K E& B E
1 7 & EHEEY S C 13 5/ 7 30.93 65% ( 0.76)
2 AF plA FRHES C 12 5/ 8 31. 31 6% ( 0.81)
3 B GRE /IMES F 12 4/ 4 31.78 6% ( 0.85)
4 PR PR JOYFITHfE 13 4/ 3 33.00 4% ( 0.86)
5 JIME BRIy FIESC 2 3/ 5 33.24 58 ( 0.74)
6 Iy EiE /MBS F 12 4/ 2 33.57 5#% ( 0.71)
7 BIEF MK IS C 12 4/ 7 35.72 3% (0.83)
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SECER 26. 87

L 15~18m% >

B K £ B FE 7K B iclE
14 M HAEY S C = 5/ 5 27.14 9f% ( 0.68)
2 EM  ERE =SS P =2 5/ 3 27.59 8#% ( 0.65)
3 R UL Ty M IVEHEL =3 5/ 6 29.00 65% ( 0.76)
4 K s5LiE HAEY S C = 5/ 2 29. 24 7#%  ( 0.85)

No.11 B 50m N2 754 A A LL—R R S CRigx
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B K 4 T & FE 7K % B

OPN HZE  Htiif WAV Y =} — i 5/ 4 25.18 9% (0.72)
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